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23.23+5.22 = 28.45
(7. 00+17. 90) /2 X 28. 064 = 349.40
Y A= 1038.93 1039.0 m
BN E WA T 1038. 93— (23.23+5.22) = 1010.48 1010.0 m
t=20cm
RS R T
L YRR T S 1038.93— (23.23+5.22) = 1010.48 1010.0 m
t=40cm
B A T 7 23.2345. 22 = 2845 284 m
t=20cm




HEEY A TR

G LI Bk HAL G ]
L T
BRI 15emPAF m 17.0
BHEERE L 15emPL T m2 220. 7
Ay )) - Mg L m3 5.0
) - R L m3 1.0
TAT 7 VAL Gy
m3 15.4
t 36. 3
W) LS ek
BERR B 25 P a1 5 1.0
KR s T
wEITERZ 300A m 30. 2
[ H A BT B300 X H300 m 14. 1
HEKPHEZE  SMBS00 X BS00 X H600 5 2.0
v - MLy
m3 5.0
t 12.5
) - RSy
m3 1.0
t 2.5
@ JE < Gy
m3 0.3
t 0.2




H & i " &F
T i HEY S T (1% v)
FERI - A Bl & BoxE K #H &
HEEY) IEE L T
SRR 15emEl T EL AR L Y L= 16.98 170 m
SR ARAEA 15emPd T EL AR L Y A= 220.68 | 220.7 m
TAT 7 Mkl Gy V= 220. 68 X0. 07 = 15.45 15.4 m
W= 15. 45X 2. 35 = 36.31 36.3  t
HEIEY) T L AR A
BERX BRI L P a% B AR 1. 66m X 1. 20m NO. 0+1. 36 1.00 .o %
PR ED I T
T ZUANER S 300A LR EEAR & D
L= 18.18+44.05+8 = 30.23 30.2 m
H B 2B ER 2 B300 X H300
L= 14.13 = 14.13 141 m
£ KPS B8OO X HE00
N= 2 = 2.00 2.0 | %
Bk ) - MU L (t/7)
TEETUARER L | 300AF & T W=30.23X (0.419+0.046X4) /2.0 = 911 9.1 t
H B 2B ER 2 B300 X H300
W= 14. 13X 0. 475/2.0 = 3.36 3.4 |t
= 12.47 12.5 | t
12.47,/2.5 = 4.99 5.0
ARy )Y - N L (m3/m)
£ /K Bk 25 B800XHB00 V=" (1.10°X0. 75-0. 80*X 0. 60) X2 = 1.05 1.O m
W= 1.05x2.35 = 2.47 2.5 |t
TEMALEE T
i) ) - sy V= 4.99 5.0 m
W= 12.47 12.5 |t
A2 )) - Ml Sy V= 1.05 1.0 m
W= 2.47 2.5 |t
BT
TV —F 7% V= ((0.1179X2) + (0.029X7) ) +0.785=0. 33
H—T 35— V= 0.425%0.425%3.14%0.003=0.0017 V= 0.33 0.33 m
W= 0.33X0.785 W= 0.26 0.26 t




HAL & HEE
TR R AR 1. 66m X 1. 20m (1.0 v)
i
neE
- in N=-TL9-NK
PER
([111]
WEmUEL - RS
iR
(.
2 ™ (]
EI ]
; | # R
. - min
[} B
A 5“ A
J ’ - | A
= % il
H‘ I | YIARE C-40
b e
= | P |
YIARE C-40
wm
NE i:f Im
1_|I-|II_I
TR - Am Hiks B & K FHELE
E¥ELT
i V= 2.1X1.50 = 3.15 3.2 m®
L V= 2.1X1.50-0.50°X0. 70
-0. 60X (0. 55+0. 60) X 0. 10 = 291 2.9 m®
A YliAff C-40 A= 0.60X (0. 55+0. 60) = 0.69 0.7 m’
t=10cm
M sk L
- FERE R L. 66mX 1. 20m N= 1.00 1.0 i
1 —7 T —Hitk| ¢ 850 N=  1.00 1.0 %
ke/m*
FLfEay ) - M )
- FRRE W= 0.50*X0.90 X 2350 = 528.75 528. 8 kg
N=  2.00 2.0 S




X R T A AR B3

ol M Bl B HAL FHEE 5

X R T

A A P ]

R g B AR, FER W=15cm m 239.7 IR
A A b ]

i oo R B, iR W=15cm I 56. 9 JnE
VR il 2 X T

R = 1k #H Hf, ER W=30cm I 13.3
AR T

AR G A ) —R—)VHH LA | R 16.0




B &= R H OE
T fil BN N (124 9)
R - AHBI Hi & B K B &
ENET o
Sh R A, FERR FEC A SRR R [ 2 R
(~A > F) W=15cm 72 NO. 0+7. 09~NO0. 5+18. 064 1=110. 974
L= 9.00+110.974 = 119.97
45 NO. 0+4. 30~N0. 5+18. 064 L=113. 764
L= 6.00+113. 764 L= 119.76
Y L= 239.73  239.7 m
A AR T NO. 0+4. 30~N0. 5+18. 064 L=113. 764
(~A > F) W=15cm L= 113.764/2 = 56.88 56.9 m

=ik B, ik

(i) W=30cm L= 3.22+3.50+3. 80+2. 75 = 13.27 L= 13.27 13.3 m
JE AT B a1
ERATEY T
e A ) —iR— )V
AR R ERE LrhaAR pist N= 8
H N= 8
> N= 16 16 A
B = H & #
NO, O | I
RO, 0+15. 0 | i
KO 1+10, 0 | i
KO 2+ 5.0 | 1
NO. 3 l 1
KO 3+15. 0 | [
KOG 4+10. 0 | [
KO 5+ 5.0 | 1
it B | @




THXS /T MR B H 5 HAL & H 24 T H %
PRAED
b, e, ML, MEL m3 50 220 0.23
HREL
IR R Tm A m3 30 33 0.9
UR R E T (TL=2000mm)) R
1000kg/{EILL T il Mg, ST i T.97% ) m 5 43 0.12
FI R AR
FI P A BT T (1L.=2000mm) 4[]
1000kg/{EILLF il Mg, ST i T.97% ) m 17 27 0.63
FI P A BT T (L=2000mm) 4[]
1000kg/{EILL T il fE, ST i T.97% ) m 10 27 0.37
BUGFT A
B8 1 2 0.50
R L0 2o U T (B 1) JB-hi
SE RS A (B - AR RN m3 5 32 0.16
R L0 2o U T (B 1) JB-Fi
SRS 7 (KB - IR B RN m3 1 32 0.03

op
[oul
—+
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